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B mEFEXHE (5) 71,516, 000 1,507, 474 8, 526
HEHEFETINXELEH6)=4)-O) A 6, 224, 181 A 6, 222, 213 A 2,574
ZDMDESC & HINZ
IRA
i;d)ﬁt@iﬁiﬂl)\ﬁ Q) 0 0 0
1" v & B X t [ 10,000, 000]| [ 10,000, 000]] [ 0]
Z DD EB)Z HET (8) 10, 000, 000 10, 000, 000 0
ZRMDEBETINZEEE(9)=(1)-(8) A 10, 000, 000 A 10, 000, 000 0
8id firs = X i (10) [ 100, 000] [ 100, 000]
LHESINZEREGE (11)=Q)+(6)+(9)-(10) A 237, 495 A 1, 756 A 229, 739
Bl #H X X #H H £ % 502 [ 29,198, 4871 [ 29,198, 4871 [ 0]
SPRZ L EEES (D+02) 28, 960, 992 29, 190, 731 A 229, 739




-,

=
(B) FH2IE 4A 18 () T84 3A31H

HRBHEN BEPFEIUS

(B : M)
BEHE FENRD RE (B) =% (M) -B)
SEFEICKLHINE
IR A
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